Due date for ‘After Date Bill' = Date of Drawal + Tenure + 3 Grace Days
Due date for ‘After Sight Bill' = Date of Acceptance + Tenure + 3 Grace Days
Due date for At Sight Bill’ = Date of Presentation

1. On L1053 X dreaws a bill on Y for Rs 20,000 tor 3 months due date of the bill will be
{a} 1.4.03 (b} 3.4.05 {ch 4.4.05 {d) 4.5.05
Ans. Due date for "After Date Bill' = Date of Drawal + Tenure + 3 Grace Days

=01.01.05 + 3 Months + 3 Days = 04.04.05
Hence the correct option: c

2 O 15805 X deases a ball o Y bor 3 roonths for Ba 200000 18 Mo wias a sudden holiday,

due date of e bill will be
(&) 17 Wow B} 1850 Mow ) 19 Mo {7} 15 Mo

Ans. Due date for “After Date Bill' = Date of Drawal + Tenure + 3 Grace Days
=15.08.05 + 3 Months + 3 Days = 18.11.05.
However if the due date is an emergency holiday, the due date is Business working day succeeding the Due
date. Thus in this case the due date will be 19.11.05
Hence the correct option: c

3. On 16605 X draws a bill on Y for Rs 25,000 for 30 days. 19% July is a public
holiday, due date of the bill vwill be:
(a) 19% July {b) 18" July {c) 17™ July (d) 16™ July
Ans. Due date for “After Date Bill' = Date of Drawal + Tenure + 3 Grace Days
= 16.05.05 + 3o Days + 3 Days = 19.07.05.

However if the due date is a Public holiday, the due date is Business working day preceeding the Due date.
Thus in this case the due date will be 18.07.05

Hence the correct option: b

4. X dravws a bill on Y for Bs 300,000 on 1.1.05. X accepts the same on 4.1.05. Period of the
bill 3 months after date. What will be the due date of the bill:

()] 4.4.05 by 3.4.05 {cy 7.4.05 {d) 8405

Ans. Please refer Q1 above

u

X draws a bill on Y, X endorsed the bill to Z. The payee of the bill will be
(a) X (b)Y (c) £ (d) None

Ans. In this case:
¥ is the Drawer of the Bill
¥ is the Drawee [ Payer of the Bill
Z is the recipient of the amount on the due date of the bill i.e. Payee.
Hence the correct option: c

m
1
1]
q
Fh
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6. A bill o 12,000 was discounted by A with the banker tor 11830, At maturity, the bill

returned dishonoured, noting charges Rs 20, How much amount will the bank deduct
from A's bank balanee al e time of such dishwaonr?

fa} 12,000 (b} 11,830 {c) 12,020 {d) 11,900

Ans. The amount payable to the bank towards the bill is Rs. 12,000. However due to the dishonor of the bill,
additional Rs. 20 towards noting charges will need to be paid by A. Thus the total amount that the bank will
deduct will be Rs. 12,020,
Hence the correct option: ¢

=]

X draves a bill on Y for Rs 20,000 on 1L7.05 for 3 months after sight, date of
acceptance is 6.1.05, Due date of the bill will be:

{a) B.1.05 (by 9.1.05 (c} 10.1.05 () 11.1.05
Ans. Due date for “After Sight Bill' = Date of Acceptance + Tenure + 3 Grace Days

= 06.01.05 + 3 Months + 3 Days = 09.01.05

Hence the correct option: b

&, X sold goods to Y for Bs L00,000. Y paid cash Rs 30,000, X will grant 2% discount on
balatwce, and Y request X to drawe a bill for balance, the anount of Till will Tres;
ta) 8,000 (b 68,000 {c} 68,600 (d}) 70,000
Ans. Amount of the bill without discount = 1,00,000 - 30,000 = Rs. 70,000
Post discount the amount of bill = 70,000 — 2% = Rs. 68,600
Hence the correct option: c

T O 1105 X draws a bill oo Y tor Bs 50,000 for 3 pwonths. X got the bl discoanted 4,105
ak 12% rate. The anwunt of discount on bill will be:
{a) 1500 (b} 1600 fc) 1800 {d) 1450
3 Monrha
Ans. The amount of Discount = 50,000 ¥ 12% ¥ 12 Jwnihe = As. 1,500
Hence the correct option: a

10. Mr. A draves a bill on Mr. Y for Es 30,000 en 1.1.06 for 3 months. On 42060, X got the bill
discounted at 12%: rate. The amount of discount will be:

{a} 900 (B 600 £} 300 iy 650
Ans. The bill is discounted for 2 months (1 month after drawal of 3 months’ bill)
i Honbha
The amount of Discount = 30,000 X 12% ¥ 12 MM oNCAS = Rs. 600
Hence the correct option: b

11. X draws a bill on Y for Bs 20,000 for 3 months on 1.1.05. The bill is discounted with benker
at a charge of Rs 100, At maturity the bill retum dishonoured. In the books of X, for
dishonour, the bank account will be credited by
{a) 19,900 {b) 20,000 (e} 20,100 fdy 19,800

Ans. When the discounted bill is dishonored, the drawer of the bill needs to make the payment of the bill
amount to the bank. The entry in the books of Drawer / X is:
Drawee’s Afc Dr ¥ AfcDr 20,000
To Bank Afc To Bank Afc 20,000

Hence the correct option: b

raviding a piece of information. This is not an official one. This might be used fo
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12, On 1.1.05 X draws a bill on Y for Ra 10,000, At maturity ¥ request X fo renews the bill for
2 monith &t 12% poa. interest. Aot of interest will be:
fa) 200 by 150 {c) 180 {d) 190
2 Menlhy
Ans. The amount of Interest = 10,000 X 12% X 12 Mouths = Rs. 200
Hence the correct option: a

13, On 1105 X draws a bill on ¥ for Re 15000 for 3 months. At maturity Y request X to accept

Rs 5000 in cash and for balance to deaw a fregh Bill for 2 monfhs together with 12% pa.
interest, amount of interest will be:

{a) 200 by 300 () 240 {d) 330
Ans. Amount of the renewed bill = 15,000 - 5,000 = Rs. 10,000
2 Monrths
The amount of Interest = 10,000 X 12% X 1d Mealhy = Rs. 200
Hence the correct option: a

14. On 1.8.05 X drave a bill on Y “for 30 days after sight”. The date of acceptance is
8.8.05. The due date of the hill will be:

(a) 5.9.05 (by 10.9.05 (<} 11.9.05 (dy 9.9.05
Ans. Due date for "After Sight Bill' = Date of Acceptance + Tenure + 3 Grace Days

= [(B.08.05 + 30 Days + 3 Days = 10.09.05
Hence the correct option: b

15. On 1.6.05 X draw a bill on Y for Bs. 25,000. At maturity ¥ request X to accept Ks. 5,000 in

cash and noting charges incurred Ra. 100 and for the balance X draws a bill on ¥ for 2
months at 12% p.a. Interest amount vwill be:

[a) 410 (f) 420 {c) 440 (el 400
Ans. Noting charges will be settled in cash and will not be added in the amount of the renewed bill.
Amount of the renewed bill = 25,000 - 5,000 = Rs. 20,000
2 Mourhy

The amount of Interest = 20,000 X 12% X T2 Houths = Rs. 400
Hence the correct option: d

16, Om 1105 X dravw a bill on Y tor Rs. 30,000, At maturity, the bill reburned dishonoured as

Y become insalvent and 40 paise per rupee i3 recovered brom his estate, The amount
recovered is!

{a) 20,000 () Wil (¢ 30,000 () 40 paise

Ans. The amount recovered = 40 Paise per Rupee = 40%

Thus the amount recovered = 40% of Rs. 50,000 = Rs. 20,000
Hence the correct option: a

17. X desvers a bill on Y for Bs 3000, X endorsed to 7. Y will pay the amount of the bill ke

{a} X b Z {c} Te hinsell {d} None
Ans. In this case:
¥ is the Drawer of the Bill
¥ is the Drawee | Payer of the Bill

Z is the recipient of the amount on the due date of the bill i.e. Payee.
Hence the correct option: b

i=s not an aofficial one. This might be used
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18. On 1.1.05 X draw a bill on Y for 3 months for Ra 10,000, On 4305 Y pay the hill to X at
12% discoant, the amount of discount will be:

{a) 100 {by 200 e} 300 idy 50
Ans. The bill is discounted for 1 month {2 months after drawal of 3 months’ bill)
1 Hunkh
The amount of Discount = 10,000 X 12% X T2 Months = Rs. 100
Hence the correct option: a

19, Fiun drivws on Aslamn a bill tor Bs 60,000 on 1,401 tor 2 months, Aslam accepts the Till
and sends it to Bam who gets il discounted for Bs 58,800 Ram inunediately remits Rs
19600 to Aslam, O due date, Ram being unable o rendl the amount due acoepts a bill
tor Bs 84,000 tor 2 months which is discounted by Aslam tor Bs 82,200, Aslin sends Bs
14,300 to Ram out of the same, How much discount swill be bome by Ran at the fime of
14,800 remillonces.

(Al 1200 ih) 1800 fey 1100 () 800
Ans. This is the case of an Accommodation Bill where in Ram & Aslam share the proceeds in the ratio of 2:1.
The amount of discount in the case of the second bill = Rs.84,000 — 82,200 = Rs. 1,800, which will be borne

by Ram & Aslam in the ratio of 2:1. Thus the amount to be borme by Ram = 1,800 X 2/3 = Rs.1,200
Hence the correct option: a

20, Mr Bobby sold goods worth Bs 25,000 1o Mr Bonny. Boveyy immediately accepled o bill on
L1101, payable atter 2 months, Boldy discounted this bill & 158% p.a, on 151101 On the
due date Bormy failed o discharge the bill. Later on Borayy became insolvent and 50 padse
is recovered from Bonny's estate, How much amount of bad debt will be recorded in the

Trooks of Bobly:

(a) 12,500 by 9,437 (<) 11,687 (d) 15,050
Ans. Total amount payable by Bonny to Bobby 25,000

Amount recoverable from Bonny's estate 12,500

{50 Paise = 50 Paise in Rupee = 50%)

Amount of Bad debts 12,500

Hence the correct option: a

Mote: The amount of discount is settled while discounting the bill on 15.11.01, hence not to considered for
the purpose of calculating the amount of bad debt.

21. The purpose of accomumodation bill is:
ia) To finance actual purchase or sale of goods
by To facililate trade ransmission
ic) When both parties are in need of funds
() None of the above
Ans. Normally, Bills of Exchange are meant to finance only commercial transactions. However, apart from this,
bills may be drawn for raising the funds to accommedate or oblige friends. Aocommodation bills are those

instruments which are drawn to enable one or all the parties temporarily raise the funds by getting the bills
discounted with the bank.

Hence the correct option: ¢

12, M sold goods worth of Ra 50,000 to N, On 110005, W immediatelsy accepted a theee month
Bll, Cny duee dite W requested thal the bill be repesved for o teesh period of 3 months. N
agress to pay inferest @ 18%: pa. in cash. How much interest to be paid in cash by N?

(a) 2250 b) 1800 () 2000 id)y 1100

raviding a piece of information. This is not an official one. This might be used fo
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Ans. The amount of Interest = 50,000 X 12% X 1d Moully = Rs. 2,250
Hence the correct option: a

23, On 1105 X dravws o bill on Y for Be 30000, AL matarily Y nequest X o drave o fresh bl for
2 months together with 12% pa. intereat, Moting charges Rs 100, The amount of interest

vl Do
{a) GO0 (b} o2 {c) 50D [d} 550
Ans. Asa fresh bill is drawn at the request of ¥, the noting charges are to be borne by Y. Thus the amount
payable by ¥ = 30,000 + 100 = 30,100.
The amount of interest = 30,100 X 12% X 2/12 = R=. 602.
Hence the correct option: b

24, On 18205 A draw a bill on B for Es 10,000, B accepted the bill on 21.2.05. The bill is
dranem for 30 days atter sight. The due date of the bill wAll be:

{a) 24.3.05 (b} 22.3.05 ic) 26.3.05 idy 21.3.05
Ans. Due date for “After Sight Bill' = Date of Acceptance + Tenure + 3 Grace Days

= 21.02.05 + 30 Days + 3 Days = 26.03.05
Hence the correct option: c

25, X sold goods to Y for s 3,00,000. % of the amount will be received in cash and halance in
B/K For what amount X should draws the bill on Y.

o) L.50,000 (b 200,000 e 100,000 (e} 1,20,000
Ans. The amount of bill = % of total due = % X 3,00,000 = Rs. 1,50,000
Hence the correct option: a

20, A draws a bill on B for Es 30,000 for 3 months, At mahardby, the bill retumed dishonowred,
noting charges Rs 500. 40 paise in a rupee is recovered from B's estate. The amount of
deticiency to be recorded on msobvency i the books of B will be:

{a) Rs.20,200 (b} Rs.30,300 [c) Ra.19,500 {dy Rs.19000

Ans. As the bill is dishonored at maturity, noting charges also remains unrecovered. Thus total amount due =
50,000 + 500 = 50,500. The amount recovered = 40 paise in a rupee = 40%.

Thus the amount of deficiency = 0% of Rs. 50,500 = Rs. 30,300
Hence the correct option: b

27. A sold goods to B for Rs 20,000, A will grant 5% discount to B. B requested A to draw a
bill. The amount of bills sl Te

(a) 20,000 () 19000 () 19200 {edp Wil
Ans. The amount of bill = 20,000 - 5% = Rs. 19,000
Hence the correct option:

28. Fees paid in cash to Notary Public is charged by:
{a) Dwawer b draves (¢} Holder of bill of exchange (4}  None

Ans. If the negotiable instrument is dishonored, the public official known as ‘Motary Public® will note the fact of
dishonor. The fee charged by notary public is known as notary charges. This amount is to be paid by the
holder of the bill. However the sum of noting charges is recoverable from the party who is responsible for
dishonor.

Hence the correct option: ¢

raviding a piece of information. This is not an official one. Thies might be used
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29, A draws a bill on B for Es 50,000, A endorsed it to C in full settlement of Rs 50.500. Moting

charges of Ks 200 as the bill retumed dishonoured. A want to pay the amount to C at 2 %
discount. The amount fo be paid by A to C will be:

fa) 49,000 il} 49,490 fc) 49,686 {dy 50,500

Ans. As the bill is dishonored, the amount payable by C to A would be Rs. 50,500 (pre-settlement amount). C,
being the holder of the bill needs to pay the noting charges and has the right to recover the same. Thus
total amount due to C is Rs. 50,500 + 200 = Rs. 50,700. The amount is paid at 2% discount.
Thus the amount to be paid by A to C = Rs. 50,700 — 2% = Rs. 43 686
Hence the correct option: ¢

30, A draws a bill on B for Rs 1,00.000. A eivdorsed the bill to C. The bl rebum dishoroured
Moting charges Ra 1000, B request A to accept the amount ab 2% discount by a single
cheque, The chegue amount will e

(a] 98,000 (b} 95,980 fc) 99,000 (d) 99,950
Ans. For the reason mentioned in 29 above the amount of cheque = (1,00,000 + 1,000} — 2% = Rs. 98,930.
Hence the correct option: b

1. 5 draws 2 bills of exchange on 1.1.06 for Hs 3000 and Rz 5000 respectively. The bill of
exchange tor Bs 3,000 is for 2 maonths, while the bill ot exchange for Bs 5,000 is for 3
months. These bills are accepted by K. On 4.3.00 K requests 5 to renevys the first bill with
inferest at 18% pua. for a period of 2 montha. 5 agrees to this proposal. On 203,00 K retires
the acceptance for Ks 5,000 the inferest rebate i.e., discount being Ks 50.

Betore the due date of the renewsed Bill K becomes insolvent and only 00 paise in a ropes
can be recovered from his estate. How much bad debt will be recorded in the books of 5:

(a) 1236 ) 1854 (o) 3090 () 3000
Ans. The bill for Rs. 3,000 has been renewed with the interest payable @ 18% p.a.

The amount of interest = 3,000 X 18% X 2/12 = Rs. 30. Thus the amount of renewed bill = 3,090,

Amount recoverable = 60 paise in a rupee = 60%. Thus Bad debts = 40%

Amount of Bad debts = 40% of Rs. 3,050 = Rs. 1,236

Hence the correct option: a

Mote: The calculation has been asked only for the renewed bill, thus the information about the bill for Rs.
5,000 is irrelevant {MBEL).

32, The promissory nole should be sig:mi Ly
(a) Drawer (b} Drawee (<) Payee {d) Promiser

Ans. The promissory note should be signed by the person making the promise i.e. the Promisor.
Hence the correct option: d

33, Euntal draws a bill on Shyam for Rs 3000, Kuntal endorsed it to Eanm. Bam endorsed it to
Rahim. The payee of the bill will be:

(a) Kumnlal by R () Shyam {d) Ralum
Ans. The bill is ultimately endorsed in the favor of Rahim and is also the holder of the bill. So the payee of the bill
is Rahim.
Hence the correct option: d

34, A bl ds dravn on 29" Toan” 06 tor one month afler date. The date of acceptance is 2™
FebO6, The bill is dravan on one menth after date basis. The due date of e bill wall be-
{a) 28" Feb (b} 1*¥ Mar {c) 2 Mar (dy 3 Mar

Ans. Due date for ‘After Date Bill' = Date of Drawal + Tenure + 3 Grace Days
=29.01.06 + 1 Month + 3 Days = 03.03.06
Hence the correct option: d

raviding a piece of information. This is not an official one. Thies might be used
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35, Mr. Rex accepted a bill drasvsm by Mr. Babin. Mr. Rabin endorsed the bill to Mr Shekar. Om
the e date, fhe bill is dishonored as Mr Bex Iecaane insolvent. To record the dishonor of
the bill in the books of Mr. Rabin, which of the following accounts should be credibed?

(a) Mr. Rex's account (b} Bills Recefvable account
e} Mr Shekar's account (d) Bills payable account
Ans. In this case Mr. Rabin is the drawer of the bill, which on acceptance has been endorsed to Mr. Shekar. In
case of the dishonor of the bill, the entry in the books of drawer [/ Mr. Rabin is:
Drawee's &/c Dr Mr. Rex &fc Dr
To Endorsee's Afc To Mr. Shekar Afc
Hence the correct option: c

Fo. Which of the following statements is true?
{a) A bill cannot be endorsed more than bvo Hmes
) A bl s draven by purchaser
ic) A bill contains an unconditional promise to payv
(d) Moting charges are borne by the drawes in the event of dishonowr of bill.
Ans. There is no restriction on the number of times that a bill can be endorsed. The bill is drawn by the seller on

purchaser. Promisory note {not a billj contains an unconditional promise to pay. Thus options a, b & c are

not true.
Moting charges are bome by the party whao is responsible for dishonor i.e. payer [ drawee of the bill.

Hence the correct option: d

37. For mutual accommaodation of A and B, B accepted a bill dravin on him by A for 2 months
Es o000, The said bill is discounted at 12% pa. and remitted 1/39 of the proceeds to B, The
amount remitted by A to B will be:

{a) 2000 (b} 1960 {c) 1920 () 1900

Ans. The amount of interest = 6,000 X 12% X 2/12 = 120. Thus the net amount = 6,000 - 120 = Rs. 5,880
B's share = 1/3 of the proceeds = 1/3 X 5,880 = Rs. 1,960
Hence the correct option: b

38, Lara draws an accommadation bill on Sachin, The proceeds are to e borne bebereen
Sachin and Lara in the ratio of 31, The amount of bill Bs 6000, discounting charges Rs
1200, Thiscount bormwe I Sachin will be:
{a) o0 by 120 {cy 100 {d) MNene
Ans. The amount of discount is to be borne by Sachin & Lara in the ratio of 3:1. Thus Sachin’s share = 3/4" of the
discount amount = ¥ ¥ 120 = Rs. 90
Hence the correct option: a

A% A dranes a bill on B for Rs 4500 for mutual accommodation in the ratio 2:1. A got it
discounted at 4230 and remitted 13 of the proceeds to B. At the time of maturity, how
much amount A should remit to B such that B can pay off the bill?

{a) 3000 () 2880 () 2520 (el 2000
Ans. At maturity, the total amount payable = Rs. 4,5%00. The proceeds are shared by A & B in the ratio of 2:1.
Thus the amount to be remitted by A= 2/3 X 4,500 = Rs. 3,000
Hence the correct option: a

raviding a piece of information. This is not an official one. Thies might be used
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40.. Squrvm droews o bill on Seaa For Bs 4300 For nmbaal accononodalion in e ratio 21, Sonw
accepted the bill and returned to Suman. Suman dizcounted the bill for K= 4230 and remitted
1/37 proceeds to Sonu. Before the due date, not having funds to meet the bill, Sonu dresy
a Bill 041 Sumemn for B 6,200 o0 the sane tepms as o mutual accommmnodation, The sevond
Bl weas discounted tor Rs 6120, The fHrst Dill was honered on the due date and a net
amount of Bs 1080 vwas remitted to Suman by Sonu. The proportionate discount charge
on both the bills is to be bome by Suman is:
fa} 180 i) 150 () 300 (d) 120

Ans. Total discount charges on both the bills = {4,500 —4,230) + (6,200 - 6,120) = Rs. 450

Suman's share = 2/3 X 450 = Rs. 300
Hence the correct option: ¢

41, Which ot the tollowing instrument is not a negotiable instrument:
ia) Bearer cheque () Proindssory note i) Bill of exchange (d) Crossed cheque

Ans. Crossed cheque is payable only to the person in whose favor the cheque is drawn, hence is not negotiable.
Hence the correct option: d

42, Om 1.1.06 Vikas drivws a bill of exchange for Bs 10,000 due for payment atter 3 months on
Ekta. Ekta accepts to this bill of exchange, On 43,06, Ekta retires the bill of exchange at a
discount of 12% poa, Whach of the discount is correct for premabure payvment in the books
of Ekta?
fa] 120 by 100 (c) 140 (d} 1eb

Ans. The bill is retired 1 month earlier than the die date — 04.03.06 instead of 04.04.06.
Amount of discount = 10,000 X 12% X 1/12 = Rs_ 100
Hence the correct option: b

43, MNeelam sold goads to Dhiman for Rs 4,000 on 1.5.06. Cn the same day, he deetw on Dhiman
a bill tor the amount tor 3 months, which Dhiman duly accepted. Meelam got the bill
dizcounted with her bank betore the due date, Dhiman became insolvent. Later, her estate

could pay onlv 40% of the amount due. What will be the amount of deficiency in the
|::m|::|i'_-% -."li Dl:'.i_lu.m.

{3200 (b} 2200 (e} Z400 [} 2000

Ans. Recovery = 40%. Thus the deficiency = 60%.
Amount of deficiency = 60% of 4,000 = Rs. 2,400
Hence the correct option: c

44 Which of e tollowving is nol a foreign ball:

(a) A& bill drasm in India, on a person resident outside India and made payable outside
India.

(b} A bill drawm outside India, on a person resident outside [ndia
{c) A bill drawn outside India, made payable in India
{dl A bill dravem omoa person resident i India made payable in India

Ans. If the bill is either drawn outside India or is made payable outside India, it is a foreign bill.
Hence the correct option: d

raviding a piece of information. This is not an official one. Thies might be used
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45. Which of the following is correct for presenting bill to notary public:
(a) To pay tees to notary public
{b) For “ bill for collection”
(o) If the acceptor can prove tat te bill was not properly presented o him for payment,
he can eacape the ]1'.=¢1'.uilil_1r-'J hence for dishonour it is produced.
(d) For drasving a fresh bill
Ans. The bill is produced to the notary public in case the bill is dishonored.
Hence the correct option: c
Mote: For detailed discussion please refer the answer to O 28.

46, A drews abill on B for Be 30,000 for 3 months. Proceeds are to be shared equally. A got the
bill discounted at 12% p.a. and remits required proceeds to B. The amount of such
remittance will be:

(a) 24250 (k) 25000 {c} 161467 (d} 32333
Ans. The amount of discount = 50,000 X 12% X 3/12 = 1,500.

Met proceeds = 50,000 — 1,500 = Rs. 48 500. The proceeds are shared equally by A & B.
Thus the share of each = % ¥ 48,250 = As. 24,350

Hence the correct option: a

47. Froan the fmollowing ontermabion, tind oat whe can draves e ball if Mr A sold goods 1o B
(@) A will deawe a bill on B (b B wall droser a bill o A
(c) MNone {d} Third party will drawr a bill on A

Ans. The bill is drawn by Creditor party (the person who has to receive an amount} on Debtor party. In this case
as Mr. A has sold the goods to B, A will draw the bill on A
Hence the correct option: a

45, When the bill are (o be produced o notary: public:
(a) At the time of drawing the bill {b) At the time of acceptance of the bill
{c) Al the Hme of dishonour of the bill {d) At the time of “bill for collection™

Ans. Please refer the answer to 0 28.
Hence the correct option: ¢

4% Which of the tollowing statement js talae
(a) B/R iz a negotiable instrament (b} B/R mnast be accepted by dravses
(c) There can be three parties in respect of bills of exchange = drasver, dravses & payee
{d} Oral bill of exchonge s also valid.
Ans. Options a, b & ¢ are true about the Bills Receivable or Bills of Exchange. However the bill is an instrument in

writing. Thus oral bill is not valid.
Hence the correct option: d

50, Under which circumstances draweer and pavee is same person:
(a) When dravver discounted the bill with benker
(b} When dravver endorse the bill to the third party
fc) When dravver held the bill ]l maturity
(d] When drawee rejects to accept the 1l

raviding a piece of information. This is not an official one. Thies might be used
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Ans. The person drawing the bill is called as ‘Drawer’. The person who accepts the bill is called as drawee who is

51

Ans.

]
1

Ans.

Ans.

required to make the payment to the holder of the bill on its maturity. Thus drawer can also be a payee if
he holds the bill till its maturity.

Hence the correct option: d

Which of the following staternent is true:

(a) MNobng charge is an expense o be bome by draser
(b) Noting charge is an expense to be bome by dravwee
(c) Moting charge is an expense to be bome by payvee
(d) Moting charge is an expense to be bome by bank

Moting charges are bome by the party who is responsible for dishonor i.e. payer [ drawee of the bill.
Hence the correct option: b

. Which of the following statement i= broe:

54,

Ans.

Ans.

roviding

(a} Creditors can draw a bill on Debtors
(b} Debtors can deaw a bill on Credifors,
(<} Bank will dravv a bill on customer at the time of overdraft.

(d) One can dreaw the bill on another under any circumstances,

Please refer the answer to 0 47.
Hence the correct option: a

Indian currency is a
{a) Bill of exchange (b Promdssory Mote (c) Hyundi {dp Cheque

Wrong Question. Kindly lgnore.

Gouri sold goods to Gupta on 1606 for Bs 1600, Gupta immediately accepted a three
months bill On due date Gupta requested that the bill be renevwed for a fresh period of
tvao months. Gourd agrees provided inferest at %% was paid immediateby in cash. What
will be the amount of interest in the books of Gouri?

(a) 20 M) 25 (o) 24 [y 28
Renewal period = 2 months,

Thus the amount of interest = 1,600 X 9% X 2/12 =Rs. 24
Hence the correct option: ¢

X draws a bill on Y on 1.1.05 for Rs 20,000 for 30 davs. What will be the  maturity date
of the bill:

ey 2.2.05 (f) 3.2.05 () 1.2.05 hy 31.1.05

Due date for ‘After Date Bill' = Date of Drawal + Tenure + 3 Grace Days

=01.01.05 + 30 Days + 3 Days = 03.02.05

Hence the correct option: b
Mote: Please read the option references e, f, g& hasa, b, c & d.

Finn's acceptince o Din tor Bs 8,000 renesived at 3 months on the condition that Re 4,000
b pinid in cash imenediately and e remainimg amount will carry mlerest @ 12% poa. The
amount ot inferest will e

{a) 120 (b) &0 [e) 90 {d) 160

a piece of information. This is not an official one. This might be used

o
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Ans. Amount of bill = Rs. 8,000 - 4,000 = As. 4,000
Amount of interest = 4,000 X 12% X 3/12 = Rs. 120
Hence the correct option: a

57. A draws a bill on B for Rs 30,000, A wants to endorse it to C in settlement of Bs 35,000 at
2% discount sith the lelp of B acceplonce and balance in cash,. How nmch cashe A weall
pay to B2
{a) 4300 (b} 4000 {e) 4100 {el} H000

Ans. Please read the guestion as ‘How miuch cash A will pay to C¥ (Mot B).

The amount payable by A to C after settlement = Rs. 35,000 — 2% = Rs. 34,300. The amount to be paid in
cash = Total payable — Amount of the bill = 34,300 — 30,000 = Rs. 4,300
Hence the correct option: a

A8, Ram gets Ghosh's acceptance for Ba 12,000 discounted at 2 months at 12% poa. The amount
of discount will be:

{a) 240 (b} 120 (i) 360 (i) Wil
Ans. The amount of discount = 12,000 X 13% ¥ 2/12= Rs, 240
Hence the correct option: a

59, If the due date is a public holiday, what will be the due date of the bill:
{a) Following day (b} Preceding dav
{c} The same day only {d} One month later

Ans. If the due date is a Public holiday, the due date is Business working day preceding the Due date.
Hence the correct option: b

raviding a piece of information. This is not an official one. This might be used fo
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